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1 4x° +8x +3 2] 9x° —4y° 2R@
2x=4 ¢£H< = (3x)° —(2y)°
= (2x)° +4x2x +3 = (3x +2y)(3x —2y)
= ATHA S a0
= (A+1)(A+3) RHAELEL £ 5
= (2x +1)(2x +3)
81 J6x° —16x —35 [41 25x° —20xy +4y°
dx=A £ H< 5x=A,2y=B &5 <
= (49)" —4xdx =5 = (5x)° —2x5xx2y +(2y)°
= A’ —44—5 2RO = 4> —24B +B*
= (A+DA—3) - 4 —B)’
= (4x +1)(4x —5) = (5x —2y)°
5 16a” +8a —3 (6] 4a° +20ab +25b°
4da=A £ H< 2a=A,5b=B £ H <
= (4a)° +2x4a —3 = (2a)° +2x2ax5b + (5b)°
= A7 +24 3 ARD = A7 +24B +B°
= (A+3)A— 1D = (4+B)’
= (4a +3)(4a — 1) = (2a +5b)°
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